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Divide by 5

da. 50 stickers are shared eqgually
between 5 people.
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==, 10 stickers each
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T stickers each. ;
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Who is comect? Explain why wsing a

division picture to prowve it.
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4b. 55 crayons are shared egually
between & people.
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"1 think they will gel]
. 7 crayons each
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"1 think they will get | ﬂ

. 11 crayons each. :

Anna

Who is comect? Explain why wvsing a
division pictore fo prowve it.
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Sa. Cara wants to share her money
between her 5 friends. How muc b owill

they each get?
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S5b. Kevin wants to share his money
between his § friends. How muoch will they
each get?

Explain wvour answer.

fda. Spot and comect the mistakes.

30 + 5 = 7
3 X 3 = 15
40 + 5 = 7
2 x 5 = 10
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45 + 5 = 8

& x 5 = 30
25 + 5 = 4

4 = 5 = 20
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7a. Spot and comect the mistakes.

?b. Spot and comect the mistakes.

5 packets of crisps shared between 5
people = 1 packet each

10 marbkles shared between & people =
1 markle each

Hine lots of 5 sweets equals 40

Three packs of five cards equals 15
cards

L cinema fickets = £30, each ticket
costs £4 each

5 train rides = £20, each train ride
costs £5 each

4 lots of 5p = 25 one pence coins

Eight 5 pence coins = two 20 pence
coins
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Divide by 5

5a. Divide the 40 buckets into groups of 5
and complete the number sentence.

Tt gt et et et et et e
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5b. Divide the 35 leaves into groups of 5
and complete the number sentence.

= § = + 5§ =
6a. True or false? 6b. True or false?
35+=5=7 45 =5=8
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7a. Match the number sentences to the
correct answer.

Al 3 = 5 9
B.|15 = 5 6
C.lé0 = 5 3
D.|45 =+ 5 12

7b. Match the number sentences to the
correct answer.

Al 20 =+ 5 5
B. |25 = 5 8
C.|55 = 5 4
D.|40 = 5 1

2a. True or false?

15+5=2
® © © © ©
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2b. True or false?

20 =

tn
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Divide by 5

1a. Divide the [10 cars into groups of 5
and complete the number zentence.

1b. Divide the 20 pairs of glasses into
groups of 5 and complete the number
sentence.

b b b b | T P AE A=

+ 5 = = 5 =
T |t
2a. True or falze? 2b. True or falze?

15=5=2 20-5=4
® o o » o 3 3 2 2 3
® ®© ®© ®© ® ¢ ¢ ¢ ¢ o
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Ja. Mateh the number sentences to the
comect answer.

Alap = 5 2
TITITWITIT] a
T1TITRITITL]

B.|15 = 5 3
T1T1T1) s
T11LIRITIT]

3b. Match the number sentences to the
comect answer.

Alas = 5 2

11T RITIT] ]

11T RITTIIWITIT]

B.|10 = 5 3
TT111] 5
1111

4a. Complete the calculations.

AL 10 =+ 5 =
(11171
(T111

B. 25 + 5§ =

4b. Complete the calculations.

A5 + 5 =
anann

B. 15 + § =
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